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B B 1 T H| 1,098 1,837 994 843 [ 1 T H 815 | 1,522 765 757
“ R 2T H 856 | 1,502 759 43| |HF 2 T H 366 643 338 305
B R 3T B L171| 2,110 1,054| 1,056| [ 3 T H| 1,083 2,014 991 | 1,023
B W4T H 782 | 1,349 700 649 | |7 4 T H 410 781 359 422
WA 1T H 567 | 1,022 511 511 (B9 )2 1 T H 848 | 1,324 659 665
o o#& 2 T H 650 | 1,124 551 573 | |B9 2 2 T H 503 816 403 413
KEMBLT H 588 970 481 489 | At ¥ 1T H 584 965 503 462
KEE2T H 726 | 1,346 660 686 | [db E®2 T H| 1,447| 2,491 | 1,334 | 1,157
KEMB3IT H 830 | 1,474 740 34| |[F &A1 T H 941 | 1,753 868 885
KEE4T H 312 495 266 229 [F &+ 2 T H| 1,565| 2,854 | 1,365 1,489
HEM®S T H 809 | 1,365 733 632 | |F & 3 1T H| 1,041] 1,711 825 886
BB 1T B 685 | 1,229 623 606 | 1B = 1 T H 537 848 437 411
B 2T H 514 969 495 A74 | MR = 2 T H| 1,063| 1,697 903 794
B oAr 1 T B 305 444 237 207 | (AR & 3 T H| 1,487 | 2,744 | 1,325 1,419
Al 2 T H 600 964 469 495 | MR B 4 T H| 1,268| 2,538 | 1,218 1,320
AT = 709 | 1,166 584 582 | 1% & 5 T H| 1,826| 3,681 | 1,775| 1,906
& Al 4 17 Al 1,155| 2,005 991 | 1,014 | (A & 1 T H| 1,589 2,894 | 1,407 | 1,487
MNE 1T B 934 | 1,613 799 814 | |A & 2 T H| 1,184| 2,267| 1,100 | 1,167
N E 2T H 668 | 1,250 611 639 | |®& & 1 T H| 1,093| 2,023| 1,018 | 1,005
= 1 T H| 1,002| 1,817 904 913 | |®& & 2 T H| 1,100| 2,360 | 1,130 | 1,230
= 2 1T H 909 | 1,671 873 798 | |#& R 3 1T H| 1,492| 2,644| 1,346 | 1,298
® R 51 60 42 18| (a1 T H 549 | 1,011 516 495
%% 1 T H 351 612 276 336 | |32 T Bl 1,033 1,922 969 953
8% 2 T H 74 122 63 59| ke s 3T Bl 1,113] 1,979 1,069 910
% 3 T H 316 558 295 263 | Ias 4471 H| 1,250 2,239 1,107 1,132
8 4 T H 37 68 32 36| |E&EELT H 470 791 378 413
% 57T H 332 513 269 244 | |FE B2 T H| 1,413| 2,205| 1,163 | 1,042
8 6 T H 139 254 138 116 | |[EE 3T BH| 1,452 2,648| 1,335 1,313
%77 H 556 980 504 476 | | M1 T H 687 | 1,265 612 653
W EB1T A 559 974 496 478 |5 M 2 T B 816 | 1,434 697 737
w2 T B 322 531 252 279 | |¥& B 1 T H 764 | 1,414 706 708
W EB3T A 762 | 1,356 640 716 | B 2 T H| 1,395| 2,429 1,214 1,215
W4T B 610 975 521 454 | |¥%& ¥ 3 T H| 1,636| 2,644 | 1,256 | 1,388
W EB5T A 768 | 1,441 748 693 | | ® 4 T H| 1,411] 2,538 | 1,281 1,257
W EEe6 T H 849 | 1,684 816 868 | | ¥ 5 T H| 2,102| 3,957 2,035| 1,922
TTEELT B 940 | 1,729 903 826 | | ® 6 T H| 1,503| 2,822 | 1,393 1,429
T 2T B 419 715 384 331 | [#& = 7 T H 366 665 326 339
T3 T Bl 1,013 1,786 905 881 | HEJI =1 T H 558 | 1,044 520 524
TLEEAT B 714 | 1,341 643 698 | |HEJIIF 2T A 668 | 1,221 595 626
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T ® 17T H 915 | 1,691 876 815
T H 2T H 989 | 1,828 928 900
T W 3 T H| 2,028| 3,271 | 1,784 | 1,487
T % 4 T H| 1,695 2,678 | 1,564 | 1,114
A F 1T H 670 | 1,223 595 628
A 72 T Al 1,621 2,820 1,513 1,307
WEE1LITH 795 1,600 835 765
WEHE2T H 820 | 1,561 861 700
¥ % 1 1T HA| 1,713 3,587 1,876 1,711
Y% 2 7 Al 1,143| 2,149 1,057 | 1,092
W )1 T H| 1,134 2,034 | 1,167 867

W J)Il 2 T H| 2,788 | 3,666 | 2,651 | 1,015
HAELT Hl 1,929 2,801 1,933 868

HALE2 T Bl 1,882 3,143| 1,808 | 1,335
= /W1 T H| 1,262 2,087 | 1,040 1,047

— w21 H 449 764 404 360
M2zl T B 228 420 197 223

w2 T Bl 1,217 2,085 1,012 1,073

.z w3 T H 234 398 204 194

w4 T H 757 | 1,428 668 760
R /N 144 229 161 68
B ALITH 669 | 1,286 613 673

LEREA2T H 418 879 426 453

rH 1T H 397 766 347 419
N A = 894 | 1,634 794 840
A 3T H| 1,473 2,574 1,253 1,321
® 4T H 286 540 271 269
®H 5T H 478 843 408 435
® 6 T H 191 383 181 202
s 7TH 586 | 1,075 507 568
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